What number is the
difference between
12 and -17?

Explain why -12 -7 is -19 and not -5.

A man has £12 in cash and owes a friend £20.
How much money has the man?

Read half of this number aloud: 4 208 092.

Write fifty five thousand more than this number
in numerals.

Six million, two
hundred and three
thousand, two hundred
and seventeen

Which two numbers can be multiplied together to make 20 000 000?

500 5000 40 000 400 000

The temperature at the bottom of a mountain
is 9°C, but at the top it is -13°C. Half way

up the mountain the temperature is halfway
between the temperatures at the top and
bottom. What is the temperature half way up
the mountain?



When comparing 5 151 515 and 5 151 155,
what is the place value of the digit which
will tell which is greater?

Explain the reasons you would use to
order the following numbers:

2722727, 277 277, 2 727 272, 2 722 T72

Explain why 2 567 286 could be rounded to
2 600 000.

Round 3250 to the nearest 500.

The population of London is 8.674 million.
To what number would you round the
population of London when writing about
London, giving your reasons.



